
ПОМОГИ  МУРАВЬЮ!
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4 + 6 = 10
6 + 4 = 10



УРА!  Мы сделали 
открытие :

От перестановки 
слагаемых

 сумма не изменяется.
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1 +  3 = 4











3 + 1 = 4



4 + 3 = 7









3 + 4 = 7



   От перестановки 
        слагаемых 
 сумма не изменяется.
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Как решить?
      3 + 6 = 
    2 + 7 =
    1 + 5 =
    4 + 6 =
    



Проверьте себя!

    3 + 6 = 
    2 + 7 =      
    1 + 5 =   
    4 + 6 =     
          

6 + 3 =9
7 + 2 = 9 
5 + 1 =6
6 + 4 =10
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   От перестановки 
        слагаемых 
 сумма не изменяется.





Работа в парах:



                               УЗНАЛ
                               ЗАПОМНИЛ
                               НАУЧИЛСЯ
                             
                               ПОВТОРИЛ


